TH2405 A 098 (LER)

R RENFEHIS (A15) 2B B #H

L5 ESCiasE: 2274
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | S1EM) FE(E) ZEM) =1ErFE) FE(E) ZEM)
130100 [ \CA a3 26,600
FIE 6,520 250 6,270 10 1,404 1,296 1,512 864
£EE 365 0 365 10 972 756
RIG 18,080 1,320 16,760 12 1,188 156 1,296 540
130340 [;£ICA LA 3 16,870
£E 1,980 70 1,910 10 1,296 1,620 648
me 9,400 0 9,400 10 1,728 594
REAR 4970 0 4,970 10 1,426 1,210
130400 |Z1F5 a3 4219
e 3,850 0 3,850 10 1,447
p3: 20 20 0 10 2,916
EE 35 25 10 025 86 54 151
x5 294 6 288 0.15 140 140 43
130600 |[LACA g 1,123
me 1,115 20 1,095 5 3. 780 6,264 864
131100 | % 29,035
&35 19,420 9,300 10,120 15 1,728 1. 620 1,836 1,620
5 1,260 0 1,260 15 2,160 1,728
F0FrL 450 0 450 15 2,376
i LU 6,405 5175 1,230 15 1,944 1,080 2,160 540
il 1,500 0 1,500 15 1,620
131700 | ¥ Y g 25,622
50 8,850 4,400 4,450 10 2,160 616 1,620 626
£E 12,772 5,020 7,752 12 972 324 1,944 108
FFrL 500 0 500 10 1,512 1,080
EE 3,500 300 3,200 10 648 972 432
131800 [IF5NAE 3 4,484
gz B2 1,728 7 1.721] 3.6 2,592 2,376 1,080
£EE 1,185 926 258 0.2 103 54 68 32
] 2 2 o[ o008 76
il 1,170 180 990 0.18 108 108 11
131910 | & g 3,262
N 30 0 30[ 0.045 63 62
£E 20 0 20 05 302 270
i L 455 0 455 1 648 216




TH2405 A 098 (LER)

R RENFEHIS (A15) 2B B #H

B i3I bR S =y 2274 +r
(EEISHERESD)
mn mn EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Axt Hfike) | SEME) FE(E) ZEM) =B FE(E) ZEM)
=)l 1,609 50 1,559 5 1, 620 2,700 324
IR 830 0 830 10 4,320 2,916
=% 28 0 28| 0.1 43
131950 [A & g 5,240
EHY 2,495 323 2,172 3 1, 620 1, 404 1,620 756
hE 100 0 100 5 400
133400 [L2 R g 22,825
373 649 469 180 1 151
K% 9,680 3,310 6,370 10 1,404 540 1,814 756
EE 9,876 6,618 3,258 10 1,944 1,188 1,620 432
me 300 200 100 10 1,836 1,404 1,836 1,404
& 2,320 1,120 1,200 10 1,404 1,080 1,458
133410 [ =—L 42X g 4,536
373 180 0 180 45 756 648
R 2,938 324 2,614 q 7156 432 1,458 108
£E 50 0 50 5 756
Il 100 80 20 5 540 540
133600 |/ 3&1) g 98
LEdE 5 0 5 5 2,160
=l 78 10 68 5 1,512 2,160 1,296
134100 |#AK 3 20,965
HE 520 0 520 5 378
me 2,720 600 2,120 5 1,058 864 1,188 702
&Il 1,370 125 1,245 5 1,512 1,458 540
iR 1,695 375 1,320 5 1,166 810 1,512 756
S0 1,300 1,100 200 5 1,296 918 1,350 1,080
= 13,270 3,610 9,660 5 1,188 680 1,350 572
134200 |F /I g 4500
—1—U—-5UK 4500 0 4,500 10 - - - 1,728 648
134300 | hF B3 5,371
=R 22 6 16 2 540 659 540
i LU 320 0 320 2 1,188 756
me 854 128 726 2 1,026 702 972 432
S0 2,490 1,136 1,354 0.3 124 92 124 92
il 1,685 115 1,570 4 1,404 1,620 1,188
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TH2405 A 098 (LER)

R RENFEHIS (A15) 2B B #H

L5 ESCiasE: 2274
(EEISHERESD)
mn &n EEHh EIFEE = (ke) R b tExIER 5|
AH HY5E Xt Hfike | 2EE) | pEEA) [ REA) [ SEE) | $EFE) | REFA)
134400 |F<~ a3 15,879
£E 3,415 512 2,903 4 1,512 1,080 3,888 756
me 620 0 620 4 1,080 756
& 3,036 36 3,000 4 1,296 1,080 756
e 8,682 648 8,034 q 1, 404 972 1,188 486
134500 |[E—< > % 9,145
=% 675 630 45| 0.15 92 54 92
= 155 8,470 473 7997 0.13 92 50 81 40
135100 |LVAITA 3 172
FERL 8 0 8 2 1,728 756
=% 30 0 30 2 2,160 1,944
REAR 24 0 24 2 2,160 864
BRE 110 0 110 /] - - - 1,404 972
135200 |Bi = g 330
£EE 139 2 137 2 1,620 1,836 864
(=] 181 10 171 1 972 864 540
135300 |[E—X a3 546
£E 176 0 176 4 1,944 1,080
ENEIT 370 50 320 /] 1,134 1,188 432
136100 [MAL & g 7,340
mE 2,095 95 2,000 5 2. 268 1. 620 2,268 540
(S5 20 20 0 5 1,620
136200 [E = 1 3,300
% 3,300 460 2,840 10 1,836 1,080 1,836 1,350
136210 | A—45 41> 3 4,850
& 4,280 2,390 1,890 10 Z 376 713 2,376 864
e 270 260 10 10 2,160 1,620 1,728
BR 300 0 300 10 1,858
136300 B3 a3 1,030
EIE 840 200 640 10 Z, 700 3,240 1,944
BRE 90 70 20 2 1,188 1,080 1,404 1,080
hE 100 0 100 10 1,534
136600 |f-F 1= a3 5,060
dtiEE 370 300 70 10 972 972 778
EE 4,690 4,470 220 20 1,512 1,080
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PR REFETS (KI5) BEB#HK
#2405 B 098 (LEA)

L5 HERHME: 2274 +o
(EEISHERESD)
mf mf EEHh EIEE = (ke) R HY5E HExTERE |
AH HY5E Axt Hfike) | SEME) FE(E) ZEM) =B FE(E) ZEM)
138100 [ZELLM=1T e 3,253
£E 450 25 425 5 3,240
me 2,239 40 2,199 0.2 216 259 108
138500 [LOHLE i 1,775
K% 1,764 360 1404 0.2 108 103 113 86

414




TH2405 A 098 (LER)

R RENFEHIS (A15) 2B B #H

KX HEs%E: 253
(EEISHERESD)
mn mn EEHh EIFEE = (ke) R b tExIER 5|
AH BY5E Xt Hfike | 2EAE) | pEEA) [ REA) [ SEE) [ $EFE) | RiEFA)
242320 |ad—ILF B 3,180
e 3,180 140 3,040 10 5. 184 4, 320 5,292 2,592
242830 [SLYAC g 5,200
It 5,200 410 4,790 10 5. 400 4, 860 5,940 4212
242850 | EMVAC a3 2,180
It 2,180 0 2,180 10 - - - 4,860 3,996
246000 [L\E g 9,094
£E 374 244 131 025 356 151 378 292
me 25 0 25| 025 378 324
&Il 560 96 464 03 486 432 432
il 1,185 171 1013] 027 378 281 389 130
B 1,289 259 1,031 027 432 292 432 238
RiF 2,340 186 2,154 0.25 270 248 184
REAR 3,294 845 2449 0,25 302 162 302 162
247100 [7—IL A AOY g 366
E4m 366 204 162 8.5 8. 100 5. 184 8,640 3,780
247491 |H4 > —AAY i 300
REAR 300 0 300 5 - - - 3,078 1,944
247568 [2H3I A0 @ 250
REAR 250 0 250 5 - - - 3,132 2,916
248300 |19 L VA 3 4,770
REAR 4,770 1,305 3,465 15 4, 320 Z 434 4,644 1,728




SF24505 A 09H (+HWER)

F A TR NS T S (AE5) HE H

A HEIbnA ot = 9.2 %
(mAs I X VE B B 5 Te)
4 . E7EH (kg o wY5E RIS
o 4 — — (i 3=X VA - — — y — =

AH H5E FAXIEA | PEHI A AED [ H )| ZemE(™) FEM EAE) | PEE) | 22
101 [ REKI=» 509 158 351 Kg |EE 1,188 194 fe)i 1,620 324
102 |FepHizu 1,619 1,619 Kg g 1,458 324
111 |&FEITED 1,280 1,280 Kg B 1,188 162
113 [ RAROVLD 49 40 9 Kg |fE 1,188 180| fe it 1,296 1,080
114 |F&FE-H 127 127 Kg [ - FE D 2,160 1,242
117 [ixs 131 10 121 Kg |fE 1,296 194| e 2,700 323
121 |bixE 141 92 49 Kg |5 1,188 135|f8 5 756 486
134 [7=Z 240 158 82 Kg |fE 1,500 540] FoJ&E 3,780 864
137 | 4 4 Kg KR 1,620
140 [DIT 26 26 Kg frJE 21,600 12,960
147 [HEX O 51 51 Kg [JuE 3,241 e 5,400 3,240
158  |F#IHAED 297 297 Kg = IRy 2,808 594
201 [WhL 469 469 Kg Al 324 90
203 [/h&HL 163 163 Kg ) 351 108
205 [ALHL 208 208 Kg KR 828 231
206 |=iE 909 12 897  Kg [FnEkIL 540 = 497 151
207 |[SAE 16 16 Kg deviEiE 675 594
208 [0k 197 197 Kg T3 1,620 324
209 [T 200 25 25 Kg R 972
210 [iFA VD 76 76 Kg [EF 3,375 1,485
212 [BHESD 85 85 Kg B 1,674 918
251 |[KAESA 423 160 263 Kg [vhid 4,104 IR 4,536 2,754
252 |[WAEESAH 40 40 Kg i) 3,132
254 [EbIEECAH 645 388 2571 Kg  [Fd-FoEkiL 1,523 600/ 5 929 907
303 [FLAZEn 88 69 19 Kg [HiR 540 468[ 1L 612 475
319 [&h5 539 471 68 Kg |[& 702 351 JE 648 351
332 [T HA PR 270 2701  Kg E[RES 1,404 1,188
351 |4AH 5 5 Kg [l 3,240
354  [1EFESY 20 4 16 Kg E] 675 ] 1,080 756
355 |HxD 205 100 105 Kg |A& 800 500|rE 1,080 432
356 |LUA 125 15 110 Kg [BHt 1,404 864 55 H 864 756
357 [FRE 50 8 42 Kg [l 1,404 1,350 | [ 1,728 810
358 | KHE 20 20 Kg B 1,296
362 [E 12 12 Kg Lo 810 702
401 | 85 8 77 Kg |@e& 1,080 864 %= 7 1,080 540
402 [H7eX 10 10 Kg A 4,644




SF24505 A 09H (+HWER)

F A TR NS T S (AE5) HE H

YR FNFERAER 0.7 %
(mAs I X VE B B 5 Te)

o Tk (k HV7E EpopirG]
A s Gl ;i il _ s B : - - : R -

A H Se/bnd ERSNNE] PEHI e P | R AE(FD | Z2fE(m) PEHH (M) | FEFD) | Z2E(m)
507 |2—/1 10 10 Kg Fi 7 702
512 [ 60 60] Kg B|RES 950 850
523 Akl Z O 275 275 Kg i )7 S 3,629 990
524 | TrE O 55 55 Kg FE 7 1,620 1,188
554 |&iE EmA SR 20 20 Kg B[RES 340
558 |IRfA 110 110 Kg JbrE 810 594
566  [@ENNT 13 13 Kg E[RES 3,456 1,350
576  |#SIT 125 125 Kg B|RES 620




SF24505 A 09H (+HWER)

F A TR NS T S (AE5) HE H

L HEIbnA ot = 3.5 %
(mAs I X VE B B 5 Te)

4 e E7EH (kg P wY5E RIS

> (8]s]

Z—F AH H5E FAXIEA | PEHI EAEFD | R AE(F) | ZE () FEM EAEA) | AE) | ZEE)
701 |[BYOA 1,685 1,608 77 Kg |EE 2,200 486 Fe i 1,242 864
713 |[LLbALT 15 15 Kg ] 1,188
751 |FEHE T 92 82 10 Kg [k 653 O 1,998
755  |BHL 156 156 Kg Flry 1,476 401
761 | BUDAE L 215 17 198 Kg [ 1,427 1,354 |Fnak L 1,620 702
767 [1E=B0H 267 267 Kg - L 1,600 800
768 |&7=Z 10 10 Kg Fi 7 1,900 1,800
801 [HEALEIT 279 279 Kg Jeve T2E 1,368 540
805 [HXiE 689 689 Kg E[RES 999 454
810 [B K+ 70 70 Kg B|RES 2,160 1,728
812 [HRIFIZLA 20 20 Kg deviEiE 1,620 1,102
815 |—WaAE 39 39 Kg Aty 864 504




